
      13

HYDRAULIC COMPONENTS

99740011410

Kit fl angia / Flange kit Ingombro / Dimensions

11400001534

11400001543

11400001552

11400001561

1 5 6 4 3 2

13 10 11 129

7 8

P
O

M
P

E
P

U
M

P
IS

O
 3

2
x

3
6

P
T

O
 v

e
rs

. 
1

3
/1

4
(U

N
I-

A
lb

e
ro

/
S

h
a

ft
 2

1
x

2
5

)

P
T

O
 v

e
rs

. 
1

5
/1

6
(I

S
O

-A
lb

e
ro

/
S

h
a

ft
 3

2
X

3
6

)

P
T

O
 v

e
rs

. 
1

7
/1

8
(I

S
O

-M
o

z
z

o
/

H
u

b
 3

2
X

3
6

)

Kit fl angia Russian standard
Russian standard fl ange kit 
Versione / Version RUSSIAN STANDARD

Fam. 114

99711401534  AB   18/12/2023



      14

HYDRAULIC COMPONENTS

99740011410

Pos.
Codice

Code N°
Denominazione

Denomination

1 11400800402 1 Flangia G 21X25 Russian standard
Flange Russian standard

2 50101200174 1 Rondella ferma fl angia
Stop fl ange washer

3 50101700106 1 Rosetta di sicurezza Ø 9 UNI 1746
Safety washer

4 50200300066 1 Vite TE M8x25 UNI 5739
Hex Bolt M8x25 UNI 5739

5 50600100220 1 Guarnizione OR 2100
Gasket OR 2100

6 50600700608 1 Paraolio Ø 35x52 H=7
Oil-seal Ø 35x52 H=7

7 11400800411 1 Flangia D.I. 32x36 Russian standard
Flange Russian standard

8 50100400183 1 Spina elastica 8x50
Spring pin

9 11400800448 1 Flangia D.I. 32x36 Russian standard
Flange Russian standard

10 50101200156 1 Rondella ferma fl angia
Stop fl ange washer

11 50101700142 1 Rosetta di sicurezza
Safety washer 

12 50200500055 1 Vite TE M12x30 UNI 5739
Hex Bolt M12x30 UNI 5739

13 50600603156 1 Guarnizione OR 3156
Gasket OR 3156

14 50200500402 1 Vite TE M12x85 UNI 5737
Hex Bolt M12x85 UNI 5737

15 11400800475 1 Flangia 32x36 Russian standard
Flange Russian standard 32x36

Componenti / Parts

Kit fl angia Russian standard
Russian standard fl ange kit 
Versione / Version RUSSIAN STANDARD

Fam. 114

99711401534  AB   18/12/2023


